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D (:+6) +4) ® (+8) (r-2)

® (3x+2y) (x+5y) @ (4x—y) (3x+2y)

KoRERRLE 5w

® (x+y)(Bx+5y-2)

@ (2x-y)(2x—4y+5)

® (Bx+4y-2) (x+5y)

@ (5x—3y+7) (4x—3y)
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D (x+6) (y+4) @ (x+8)(y—2)
=xXy+xX4+6Xy+6x%x4 =xXy+xX(—2)+8xy+8x(—-2)
=xy+4x+6y+24 =xy—2x+8y—16

® (3x+2y) (x+5y) @ (4x-y) (3x+2y)
=3xXx+3xXby+2yXx+2yXby =4xX3x+4x X2y —yX3x—y X2y
= 3x*+ 15xy + 2xy + 10y” =12x"+ 8xy — 3xy — 2)°
=3x"+ 17xy + 10y* =12x"+bxy — 2)°

@ (x+y) (Bx+5y-2)
=xX3x+xxX5y+xX (=2) +yx3x+yx5y+yx (—-2)
=3x*+5xy — 2x + 3xy + 5* — 2y
=3x*+8xy+5y°—2x— 2y

@ (2x-y)(2x—4y+5)
=2xX2x+2xX (—4y) +2xx5-yX2x—yXx (—4y) =y X5
=4x"— 8xy + 10x — 2xy + 4y°— 5y
=4x*—10xy + 4y°+ 10x — 5y

® (Bx+4y-2) (x+5y)
=3xXx+3xX5y+4yXx+4yX5y—2Xx—2XDby
=3x"+ 15xy + 4xy + 20y* — 2x — 10y
= 3x%+ 19xy + 20y*— 2x — 10y

@ (5x—3y+7) (4x—3y)
=5xX4x+bxX (—3y) —3yx4x—3yx (=3y) +7x4x+7x (—3y)
=20x*— 15xy — 12xy + 9y*+ 28x — 21y
=20x*— 27xy + 9y*+ 28x — 21y
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